Pg 371 #11-51 odd

Multiply, if possible. Then simplify.

10. V8 - V32 11. V4. V16
13. VB8 - V32 14. V=5+ 5
16. V9 - V24 17. V=12 - V18
Simplify.
19. V20x* 20. V813
22. V324° 23. V/54y10
25. V—250x5)° 26. V/64x?)P
Multiply and simplify.
28. V6 - V16 29. \V/8)% « \V40)?
31, 4V2x - 5V 6xy? 32. 3V/5)°% - 2¥/500*
34, Valy! - Wazxdy 35. 2V 2xy? « Viax2yo
Divide and simplify.

/500 V/ 48x3
37. Ve 38. Van?

J Ty 3 32
40. ‘V?Eljxy“ a1, v;:lary

Vaxly Vex'ly

Rationalize the denominator of each expression.

Vx V5
43, V2 44, VB

3 V2

a6.\/3 47. 3
a9, V3 50, V3V

Vaxy? VaxZy?

12.
15.
18.

21.
24,
27.

33.
36.

39.

42.

45.

48.

4 See Problem 1.
V9 - V=81
V=5 V=25
V50 « V75

4 See Problem 2.

V50x°
\/Zﬂnaﬁb?

v —32x5y7

4 Sece Problem 3.

. V8x®+ V3x

~Vox? . 2V 15x%
3W18a° « V6ab?

4 See Problem4.
\/ 5Bx7y°

Vxy

v 20ab
Via5a2h?

4 See Problemb.
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15V 60x°
3v12x
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